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printf ("'whose \"'car\" is this\?'");

h whose \"car\" is this\? .¥ whose car is this? .\
Wj whose "car" is this\? .¥f whose "car" is this? .Y
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int x=3,y=2; Y int x=3,y=2; .\
float z = x/ (float) y; float z = x/ y;
int x=3,y=2; .¥f int x=3,y=2; Y
intz=x/vy; int z = (float) x/ y;
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X= X+Yy;
y=X-y;
X= X-y;
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int x= 342; float y= 55.267;
printf ("' %3.1f%05d"",y,x);
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int i, c=0; char str{50];
scanf('' %s" ,str);
for (i=0; str[i]; i++)
if (str[i]=="1') c++;
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gets() -f getche() -¥ getch() .Y getchar() .\
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int x=10, y =4;
float z = 8;
X+ %= (y++ != zll !x)+ (int)z/ y;
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switch(x){
case 2: AMP
case 3: y--; break;
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case 5:
default: y++;
}
if (x==2 Il x==3) y--; .¥ if (x>1 && x<4) y-; .\

if (x==5) y++; else y++;
if (x==3) y--; .f if (x==2 Il x==3) y--; .¥
else y++; else if (x==5) y++;
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w=(x>y?(x>z2?x:2):(y>2?y:2));
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a=10;

if (a>15)

if (a<10) a+=2;
else if (a !=4) a--;

else a*=5;
else ++a;
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s =0;

for (i=10; i<=100; i+=5)
if(i % 2==0) s+=i;
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for (i=10; i<10; i--); .Y for (i=1; 1; i--); .»
for (i=1; i=2; i++); .t for (i=1; 1; i++); .Y

goto .f¥ exit .v break .v continue .\
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i=5; j=10;

switch(j){
case 5: j=++i;
case 10: j++; break;
case 11: i *=--j;

}
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int func(int x){
if (x>0) return x %10 + func (x/10);
return 0;
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register .f static .v extern .y auto .

Tl plaS Cowly @ o Slcwd F @ pj alip (29,5 T

int x=10, y=20;
int main(){
int x=5,z =7;
{ int y=4;
X +=y; z--3 }
printf("" %d %d Y%d".xy,z);
return 0;

}
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int a[5] = {1,3,7,0};
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int a[4] = {1,2};
for (i=0; i<3; i++) a[i+1]=2 * a[i];
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char* f (char s1[], char s2[]){
int i,j;
for (i=0; s1[i]; i++);
for (j=0; s2[jl; j++) sl[i+j] =s2[jl;
s1[i+j] ="\0";
return sl;

}

strlen .f stcmp .Y strcpy ¥ strcat .\
Sl plaS ¥ P Hlado o) Ol ygiwd 5l 51 g YO
int a[5]={11,17,13,12};

int *p = a;
p++;
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